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A) 3624 km® B) 2508 km?*
C) 418 km® D) 2563 km®
3)
6 dm 8 dm
8 dm
10 dm
A) 208 dm?® B) 268 dm®
C) 192 dm? D) 227 dm?®
5) 9 mm
10 @
mm
7,8 mm
A) 351 mm® B) 2620 mm®
C) 2529 mm® D) 2106 mm®
7) 22 mm 11

mm
A) 1131,9 mm?
C) 1737,3mm?

B) 819,9 mm®

D) 1326,6 mm?®

Vypo¢itaj objem hranolov.
Vysledok zaokruhli na desatiny.

2)
11m
6m
7,6 m
A) 250,8 m° B) 1254 m?
C) 1665 m° D) 1059 m*®
4) 7m
7m
12m
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m
A) 302 m® B) 588 m®
C) 405 m® D) 811 m®
6)
14 cm 11 cm
55cm
6 cm
A) 654,5cm?
C) 792,8 cm®
8) 4m
10 m
52m 6m
4m
A) 1456 m® B) 130,2 m*®
C) 1851 m® D) 1488 m®

B) 563,8 cm®
D) 749,9 cm®
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